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, ——————PURBANCHAL UNIVERSITY | e
| e CA)/Fourth semester [ Final \ oy |
' 4 Years Bachelor of Computer Application (BCA)/ ouo L ‘
| Time: 03:00 hrs. Full Marks: 60 / j :
/" BCA277CO, Operating System (New Course) L1
give their answers in their owrn words as far
|

i

Candidates are required to
as practicable.

Figure in the margin indicafe full marks.
Group A
x12=24
Answer TWO questions. e
ed. Discuss LRU and

Why Page replacement algorithm is requir
FIFO algorithm with example.
What is deadlock? Explain different conditions of deadlock.

2.
Discuss Bankers algorithm for single resource with example.
hm with

j

What is Disk? Explain different disk scheduling algorit

example.
Group B
| 6x6=36

Answer SIX questions.
Compare multiprogramming and batch operating systems.

4.

s Discuss history of operating system in brief.

6  What is Process? Discuss FCFS and Round Robin algorithm with
example.
Explain different operation performed on a file.

8. What are different types of terminal? Explain.

g- Explain working mechanism of DMA with proper diagram.

What is Race condition? Explain with an example.

1]. Write short notes on any TWO:
(a) Page Fault
(b) Segmentation
(c) Paging

i
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PURBANCHAL UNIVERSITY

4 Years Bachel cipdes

Bior 35 elor of Computer Application (BCA)/Fourth Semester/ Final

m :00 hrs. Full Marks: 60 /Pass Marks: 24
A280CO: Numerical Methods

Candldqtes are required to give their answers in their own words as far
as practicable.

Figure in the margin indicate full marks.

Group A :
Answer TWO questions. 2x12=24

1{a) Find a root of the equation x3 -x -1=0, using the bisection method
correct to three decimal places.

(b) Find by Secant method, the real root of the equation 3x=cosx + 1,
correct to three decimal places.

2/ Fit Power curve to the following data and hence estimate y when

x is 5.6.
X: 10 15 2.0 2.5 30 3.5 40 _
4.1

s 12 14 1.6 2.2 2.7 37
/S,olve the equations 27x + 6y - z = 85, 6x + 15y +2z = 72 and X +y

+ 54z= 110 by Gauss siedel iterative method.

Group B
Answer SIX questions. 6x6=36
4., By method of leagt squares, find the straight line that best fits

the following data.’
X1 2 3 4 5
Y; 10 25 42 56 68
7 From the following table, find y when x= 4.8 by Newton's

interpolation formula:
X 2 17,.18 1.9 20 & 21 .22 23
y= &' : 5474 6.050 6.686 7.389 8.166 9.025 9.974

6. Given that:
PIERIR. ¢ o % VGRE  To Tt o J T b T B
; y: 7989 8403 8781 9.429 9.451° 9750

Find first derivative at x =1.2

Contd. ...
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PURBANCHAL UNIVERSITY )

2017

\

4 Years Bachelor of Computer Application (BCA)/Fourth Semester/ Final *

Time: 03:00 hrs.
[ BCA28000 Numerical Methods (New Course)

Full Marks: 60 /Pass Marks: 24 |

\

Candidates are required to give their answers in their own words as far

as practicable.

Figure in the margin indicate full marks.

Answer TWO questions.

1{a) Find the positive root of the equation X3-x-

0.

%

3/

S.

Group A

method, correct to two decimal places.

d

2x12=24
=0, by bisection

Find to four places of decimal, the root of the equation e* = SinXx,

by Newton- Raphson method.

Solve by Gauss-Seidal method, the following system of equations,
Sx+2xatxa= 12, x1+4x+2xs= 15, x1+2x9+5x3=20, correct upto

three decimal places. 2 7

Apply Runge-Kutta fourth order method to find the solution of
differential equation dy/dx=x2+y?, at x= 1.2 in steps of 0.1, given

that y= 1.5 when x=1. oS
Group B

Answer SIX questions.

such that y=aeb* fits the following data:
) “ 6 8 10 e

-

f: 14.007111.084130.12881.897222.62| - -

6x6=36
4, Determine the constants a and b by the method of least square

¢ 29w
o Loy

The population of a country in decennial census were as under:

Year 1941 1951 | 1961 | 1971 | 1981

Find the population for 1975 year. -

The following table gives the value x an y:

x 1.2 202 i
|y [42]6.8]9.8]13.4] -

RS

Population (millions) | 46 67 83 95 | 102

e e s s sl

Find the lagrange interpolation polynomial and hence y(10).

Ly
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(2) | |
the total galary Of all the

, Kathmandu.

(d) Write SQL query to find
w column named 'email

departments which are located ir
Write a DDL command to insert a ne

"to the department table.
roup B
6x6=36

(e)

Answer SIX questions.

4.
S.
6.

8.
<

0.

List the functions of a DBMS. How can you classify pDBMS? 2+4
What is multivalued dependency? Explain 3NF and BCNF with
1+5

example.
What are integrity constraints? How does domain constraint
differ from referential integrity constraints? 2+4

What is relational algebra? Differentiate between SELECT and
1+5

PROJECT operation used in relational algebra.
What does the DBMS do to recover from failures? Explain. 6

How can you differentiate between DML and DDL? Explain with

proper syntax for each command.
3+3

Write short notes on any TWO:
(a) Query Processing

(b) Data Independence
(c) Participation constraints

}

3
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PUPRAT
URBANCHAL UNIVERSITY
4 Years Bachelor of C 2017

: 0 e
Time: 03:00 hrs. mputer Application (BCA)/Fourth Semester / Final

BCA276C

E;____T‘_fm,‘lzgiabase Management
ndidates agre re

as practicabie.

Full Marks: 60 /Pass Marks: 24
System (New Course)

quired to give their answers in their own words as far

Figure in the margin indicate full marks.

: Group A
Answer TWO questions. 2x12=24
1. What is database? How is it different from DBMS? Explain the
functions of a DBMS. How does modern database approach is
different from traditional file processing system. 2+2+3+5
2. Draw an ER diagram for a School management System. Make
additional assumptions required. Also convert the ER diagram
o into relations. !
3. Consider the following DEPARTMENT table given below.
( DNO DNAME |DLOCATION MANAGER_SSN [MANAGER SALARY
1 Account | Kathmandu 131 30000
2 Finance | Kathmandu 102 30000
3 Marketing Dharan 103 35000
4 HR Janakpur 110 35000
5 Production | Janakpur 105 35000
6 |Manufacturing| Kathmandu 109 30000

Now answer the following Questions:

(a) Write SQL syntax to create the given table. The
MANAGER_SSN column should refer to the SSN field of
EMPLOYEE table.

(b) Write SQL syntax to update the salary of all the managers by
15% who is either a manager of HR or Production

Department.

(c) Write SQL query to retrieve all information of Departments

which is located in Janakpur and whose dname is marketing
or HR.

contd- ees
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[ pum UNIVERSITY

201
4 Years Bachelor of Computer Apphcatlon
Time: 03:00 hrs.

BCA293MS: Technology and Opera
give their answers in their O

th Semester | Final
/Pass Marks: 32 \
ew Course)

wn words as far

(BCA)/Four
Full Marks: 80
tions Management (N

Candidates are required to
as practicable.

Figure in the margin indicate full marks.

Group A
2x12=24

Answer TWO questions.
ment. Describe major

1. Discuss the concept of operations manage :

of differences and similarities between the manufacturing
operations and service operations management.

used as

2, Define the quality circle. Discuss how the quality circle is

a technique of quality improvement.

e Suggest suitable locations for the following industries and what

are the key factors to be considered.
e Sugar factory

e Textile industry

s Auto part unit

e Food processing umnit

Group B

Answer SEVEN questions. 7x8=56

4.  Discuss the meaning and role of technology. What are the
different components of technology? Explain.
5.  What type of strategic plans are necessary for a shoe maker 10
make? Explain.
6. What is conversion process? Define the importance of job design
in conversion process.

What do you understand by the cost of poor quality? Explam
with suitable examples.

=

contd. see
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